








3es (a) to (d) below : =

B Ay & . (b)
g () ""‘“‘*T) Steam (g)
| ‘.~. g conversions :
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72K (b) 82°C= ... K
w-q—.--‘.-‘fg_ K @) °C = 569K
weneeeen. Pascal et atm = 2.02 x 10° Pascal
o () IS dm?

.....................................

se in hmrudlty s (b) decrease in wind speed ............
of hemperature .......... (d) increase of surface area ............

&meestates of matter namely ........... IR L o and s . The particles of solids are ........... closely
han liquids while those of gases are .......... packed than liquids. The particles in a .......... can

ﬁgelybecause there are weak ........... betwemthem W}mparhdescumedosertoge&lex.:
‘1@:.“ /hen a gas .......... energy is given out. But we need to supply s sk ce













